Hazard

List of bowtie
threats

| New Threat 1

Outcome

The worst
credible
outcome linked
to the particular
threat via the
top event within
the bowtie

II
T

a Top event

Severity of

Outcome

Using ICAO
(5x5) or ARMS
(ERC) matrix
considering the
severity of the
outcome

Likelihood

Considering
the
barriers/control
s within the
appropriate
bowtie - how
likely is the
threat to cause
the outcome?

Inherent Risk

Risk

Calculate the
score based on
the chosen
matrix

Mitigation

If the scoreis
unacceptable
and requires
mitigation, refer
to the bowtie
for possible
changesto the
system —
remember to
consider
transfer of risk
which is easily
identifiable on
a bowtie

Severity of
outcome

Consider the

Likelihood

Consider the

effectiveness of effectiveness of
the new or the new or
improved improved
mitigations mitigations
(controls)for (controls) for
reducing the likelihood of
severity of the the threat
outcome escalating into
the outcome
Residual Risk

Risk

Calculate the
new risk score
based on the
new or
improved
mitigations
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